**PR Number:** GF-2024-10-02943

**PPMP Number:** PPMP-2025-092524-0085

Office: OVPAF

**Purpose:** To purchase office Supplies & Equipment for CY 2025

No.	Item Name	Quantity	Quarter	MOP	Status
1	Acetate	1	1	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 899.00 Quantity: 1 Total Cost: 899.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
2	Air Freshener, Aerosol type	5	1	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 218.00 Quantity: 5 Total Cost: 1,090.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
3	Alcohol, Ethyl, 75% solution, 1 gallon	5	1	Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 450.00 Quantity: 5 Total Cost: 2,250.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
4	Apron, Plastic, for Adult	2	1	Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 95.00 Quantity: 2 Total Cost: 190.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING

No.	Item Name	Quantity	Quarter	MOP	Status
5	Battery, Alkaline, Size: AA, Nominal Voltage: 1.5 volts, 2 pcs/pack, genuine	5	1	Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 120.00 Quantity: 5 Total Cost: 600.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
6	Battery, Alkaline, Size: AAA, Nominal Voltage: 1.5 volts, 2 pcs/pack, genuine		1	Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 120.00 Quantity: 5 Total Cost: 600.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
7	Binder Clip, 1.5", black	10	1	Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 4.00 Quantity: 10 Total Cost: 40.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
8	Binder Clip, 2-inch, 12 pcs/box	10	1	Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 60.00 Quantity: 10 Total Cost: 600.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING

No.	Item Name	Quantity	Quarter	МОР	Status
9	Bleach, cleaner, 1 gal.	2	1	Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 180.00 Quantity: 2 Total Cost: 360.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
10	Bond Paper, 80 gsm, A4	25	1	Competitive Bidding	PO #: PS-DBM Q25-01445 Bid Price: 213.86 Quantity: 25 Total Cost: 5,346.50 PO Amount: 918,396.32 Supplier: PROCUREMENT SERVICE (PS-DBM) Obligation Number: Q25-01445  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
11	Bond Paper, 80 gsm, Long	10	1	Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 270.00 Quantity: 10 Total Cost: 2,700.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
12	CORRECTION TAPE	15	1	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 39.00 Quantity: 15 Total Cost: 585.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING

No.	Item Name	Quantity	Quarter	MOP	Status
13	Coffee/tea mug with handle and teaspoon with cup saucer	15	1	Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 190.00 Quantity: 15 Total Cost: 2,850.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
14	Detergent Powder, 1 kilogram	3	1	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 148.00 Quantity: 3 Total Cost: 444.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
15	Dishwashing Sponge	5	1	Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 35.00 Quantity: 5 Total Cost: 175.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
16	Double Sided Glossy Photo Paper A4 (50sheets per pack)	3	1	Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 245.00 Quantity: 3 Total Cost: 735.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING

No.	Item Name	Quantity	Quarter	МОР	Status
17	Dust pan, plastic, stand- up handle, small	4	1	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 73.00 Quantity: 4 Total Cost: 292.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
18	Envelope, Brown, long, good quality	15	1	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 4.00 Quantity: 15 Total Cost: 60.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
19	Envelope, brown, ordinary, A4 size	15	1	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 9.00 Quantity: 15 Total Cost: 135.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
20	Epson L6290 001 Ecotank Ink Black	15	1	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 585.00 Quantity: 15 Total Cost: 8,775.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING

No.	Item Name	Quantity	Quarter	MOP	Status
21	Epson L6290 001 Ecotank Ink Cyan	15	1	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 389.00 Quantity: 15 Total Cost: 5,835.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
22	Epson L6290 001 Ecotank Ink Magenta	15	1	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 389.00 Quantity: 15 Total Cost: 5,835.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
23	Epson L6290 001 Ecotank Ink Yellow	15	1	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 389.00 Quantity: 15 Total Cost: 5,835.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
24	Eraser, Plastic / Rubber	2	1	Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 28.00 Quantity: 2 Total Cost: 56.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING

No.	Item Name	Quantity	Quarter	MOP	Status
25	Eraser, whiteboard, magnetic flannel	3	1	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 73.00 Quantity: 3 Total Cost: 219.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
26	Glass cleaner 500ml lemon w/spray	3	1	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 198.00 Quantity: 3 Total Cost: 594.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
27	Glue, Multi-Purpose, White, at least 130g (118mL)	4	1	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 75.00 Quantity: 4 Total Cost: 300.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
28	Hand Soap, Liquid	4	1	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 118.00 Quantity: 4 Total Cost: 472.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING

No.	Item Name	Quantity	Quarter	MOP	Status
29	Hand Towel, cloth, cotton	5	1	Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 30.00 Quantity: 5 Total Cost: 150.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
30	Heavy-duty Electric Stapler	1	1	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 33,880.00 Quantity: 1 Total Cost: 33,880.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
31	Kitchen paper towel	15	1	Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 98.00 Quantity: 15 Total Cost: 1,470.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
32	Lever Arch File Folder, Vertical, with Ring Binder & Metal Finger Pull, Size: 3", A4 (Black)		1	Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 120.00 Quantity: 25 Total Cost: 3,000.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING

No.	Item Name	Quantity	Quarter	MOP	Status
33	PAPER CLIPS VINYL COATED ASSORTED 33MM, 100pcs per box	5	1	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 24.00 Quantity: 5 Total Cost: 120.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
34	Paper Clip / Clip Paper, 33mm	5	1	Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 15.00 Quantity: 5 Total Cost: 75.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
35	Paper Clip / Clip Paper, 50mm	5	1	Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 25.00 Quantity: 5 Total Cost: 125.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
36	Paper Clips Small Vinyl (33MM)	5	1	Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 15.00 Quantity: 5 Total Cost: 75.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING

No.	Item Name	Quantity	Quarter	МОР	Status
37	Paper Clips Small Vinyl (50mm)	5	1	Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 25.00 Quantity: 5 Total Cost: 125.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
38	Paper Fastener, Plastic	5	1	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 40.00 Quantity: 5 Total Cost: 200.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
39	Paper, Bond, Short, S-24, 80 gsm	10	1	Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 220.00 Quantity: 10 Total Cost: 2,200.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
40	Pencil, Lead/Graphite, with Eraser	3	1	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 118.00 Quantity: 3 Total Cost: 354.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING

No.	Item Name	Quantity	Quarter	MOP	Status
41	Permanent Marker / Permanent Pen, Black, Broad	3	1	Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 48.00 Quantity: 3 Total Cost: 144.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
42	Permanent Marker / Permanent Pen, Black, Fine	2	1	Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 38.00 Quantity: 2 Total Cost: 76.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
43	Permanent Marker / Permanent Pen, Blue, Broad	3	1	Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 48.00 Quantity: 3 Total Cost: 144.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
44	Permanent Marker / Permanent Pen, Blue, Fine	2	1	Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 38.00 Quantity: 2 Total Cost: 76.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING

No.	Item Name	Quantity	Quarter	МОР	Status
45	Puncher, 2 holes, heavy duty	3	1	Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 220.00 Quantity: 3 Total Cost: 660.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
46	Ring Binder, plastic, 25mm ,1" black	5	1	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 40.00 Quantity: 5 Total Cost: 200.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
47	Ring Binder, plastic, 51mm 2" black	5	1	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 55.00 Quantity: 5 Total Cost: 275.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
48	Ring Binder, plastic, 6mm, 1/4" black	5	1	Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 7.00 Quantity: 5 Total Cost: 35.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING

No.	Item Name	Quantity	Quarter	МОР	Status
49	Ring Binder, plastic, 8mm, 5/16" black	10	1	Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 7.00 Quantity: 10 Total Cost: 70.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
50	Ring Binder, plastic,12mm, 1/2" black	5	1	Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 10.00 Quantity: 5 Total Cost: 50.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
51	SIGN PEN, Extra fine tip, Blue 0.5	25	1	Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 22.00 Quantity: 25 Total Cost: 550.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
52	Sign pen, Fine Tech, 0.3mm. blue	15	1	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 34.00 Quantity: 15 Total Cost: 510.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING

No.	Item Name	Quantity	Quarter	MOP	Status
53	Soap, Dishwashing Liquid Refill, 375ml	3	1	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 198.00 Quantity: 3 Total Cost: 594.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
54	Staple Wire, Standard	5	1	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 35.00 Quantity: 5 Total Cost: 175.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
55	Staple wire remover	5	1	Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 35.00 Quantity: 5 Total Cost: 175.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
56	Stapler, Standard Type	5	1	Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 200.00 Quantity: 5 Total Cost: 1,000.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING

No.	Item Name	Quantity	Quarter	MOP	Status
57	Sticky Note, 3 x 3, Yellow	5	1	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 74.00 Quantity: 5 Total Cost: 370.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
58	Sticky Note, 3x5 Colored	5	1	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 48.00 Quantity: 5 Total Cost: 240.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
59	Sticky Sheets Flags & Tabs / Sign Here Sticky Flags	10	1	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 48.00 Quantity: 10 Total Cost: 480.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
60	Tape, Double Sided, 1" x 10m	5	1	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 43.00 Quantity: 5 Total Cost: 215.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING

No.	Item Name	Quantity	Quarter	MOP	Status
61	Tape, Duct, 2" x 25m, Black/Grey	3	1	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 178.00 Quantity: 3 Total Cost: 534.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
62	Tape, Packaging, 2" x 100 yards, Clear	3	1	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 68.00 Quantity: 3 Total Cost: 204.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
63	Tape, double sided with foam, 20mm x 3m	5	1	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 148.00 Quantity: 5 Total Cost: 740.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
64	Toilet Tissue Paper, 2 Ply	5	1	Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 180.00 Quantity: 5 Total Cost: 900.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING

No.	Item Name	Quantity	Quarter	MOP	Status
65	Vellum Board, Canary, A4, 220 GSM, 10 sheets per pack	4	1	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 58.00 Quantity: 4 Total Cost: 232.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
66	Vellum Board, Pale Cream, A4, 220 GSM, 10 sheets per pack	4	1	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 58.00 Quantity: 4 Total Cost: 232.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
67	Wet and dry vacuum cleaner, 10L	1	1	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 4,999.00 Quantity: 1 Total Cost: 4,999.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
68	White Folder / File Folder, Legal	15	1	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 9.00 Quantity: 15 Total Cost: 135.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING

No.	Item Name	Quantity	Quarter	MOP	Status
69	Whiteboard Marker / Whiteboard Pen, Black	3	1	Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 48.00 Quantity: 3 Total Cost: 144.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
70	Whiteboard Marker / Whiteboard Pen, Blue	3	1	Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 48.00 Quantity: 3 Total Cost: 144.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
71	Whiteboard Marker / Whiteboard Pen, Red	3	1	Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 48.00 Quantity: 3 Total Cost: 144.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
72	table napkin, pre-cut, approx. 1000 sheets per pack	10	1	Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 100.00 Quantity: 10 Total Cost: 1,000.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING